E % Multipliziere Dezimalzahlen mit 10.100.1000

Name: Datum: Ergebnis:
10, 417 x 1000 = 1,206 x 10 =
4,971 x 10 = 4,212 x 100 =
6, 809 x 1000 = 4,267 * 1000 =
9,221 x 10 = 1,412 x 100 =
7,53 x 1000 = 5,523 x 1000 =
6,398 x 1000 = 10, 548 x 1000 =
3,192 x 1000 = 10,066 x 10 =
2,486 x 1000 = 3,009 x 1000 =
6, 144 x 1000 = 3,014 x 100 =
9,554 x 100 = 2,46 x 1000 =
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E @ % Multipliziere Dezimalzahlen mit 10.100.1000

Name: Datum: Ergebnis:
10,417 x 1000 = 10417 1,206 x 10 = 12.06
4,971 x 10 = 49.71 4,212 x 100 = 421.2
6, 809 x 1000 = 6809 4,267 x 1000 = 4267
9,221 x 10 = 92.21 1,412 x 100 = 141.2
7,53 x 1000 = 7530 5,523 x 1000 = 5523
6,398 x 1000 = 6398 10, 548 x 1000 = 10548
3,192 x 1000 = 3192 10,066 x 10 = 100.66
2,486 x 1000 = 2486 3,009 x 1000 = 3009
6, 144 x 1000 = 6144 3,014 x 100 = 301.4
9,554 x 100 = 955.4 2,46 x 1000 = 2460
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